Question Mo : 1 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The memeory address of the first element of an atray 15 called

&

Answer | Please select your correct option )

floor address
(&)
foundation address
(@]
first address
&1
base address
0 s
ana wwgmail. -
correct mos YReld@ By: Nagar Siddhuy




Question Mo : 2 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

We want to access array m random order which of the following approach is better?

&

Answer | Please select your correct option )

Pointers
r < 2
correct v ggmion
3223043306
Array index
(g
Both pointers and array mdex are better
C
Ifatrie
O
Yhede By: Wager Siddha




Question No : 3 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

&

The structure 18 a multiple-selection construct which makes the code more efficient and easy to read and understand.

Answer | Please select your correct option )

rrltiple-if
(&)

switch
- Correct .&nlitDrLf Sn:;::i_lv Hadi

COrrect i

if-else
&1

elseaf
{

Yhede By: Wager Siddha




Question Mo : 4 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Which of the followmng 15 not a reserved word m C/C+H+?

&

Answer | Please select your correct option )

it
C
float
S
double
o
Sum Correct Answer Solved By Hadi
e usmanraj2i@gmail.com
e hade By: Wagdare Siddhu




Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

&

To access rand(), which ibraty 15 required to be included i program 7

Answer | Please select your correct option )

conio.h
&

stdio.h

stdlib.h Correct Answer

(ﬁ - - 1
correct it
mameail pors

03228043306

Yhede By: Wager Siddha

iostream.h




Question No : € of 26 Marks: 1 (Budgeted Time 1 Min) (=]

What 15 the highest legal index for the following array”? =
mnt arr[4]

Answer | Please select your correct option )

4
C
3 C t An Solved By Hadi
COITect ——
2
1
ade By: Wagar Siddhuy




Question Mo : 7 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

&

When an atray element 13 passed to a function, it 13 passed by

Answer | Please select your correct option )

reference

) Correct Answe‘r
correct yosiiry

data type &%306
(@]

value
&1

data
{

Yhede By: Wager Siddha




Question Mo : 8 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

While programmming, it i3 good to provide an easy to understand and easy to use interface; this programiming skill is called

&

Answer | Please select your correct option )

C

scalability
yebie Correct Answer Solved By Hadi
i usmanraj2l@gmail.com
COrrect e
reliability
sustainability

Yhede By: Wager Siddha




Question No : 9 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

&

Word processor 13 a type of afan

Answer | Please select your correct option )

operating systerm
C

applcation softwate

Ci An Solved By Hadi

) correct s

desice driver
C

utility zoftware
O

Yhede By: Wager Siddha




Question Mo : 10 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

‘while' loop may execute or more wmes,

&

Answer | Please select your correct option )

C

three
EZErD Correct Answer Solved By Hadi
usmanraj2)@gmail.com
- V.
COMreE B
two
one

Yhede By: Wager Siddha




Question Mo : 11 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

The keyword 15 used to get some value back from a function

&

Answer | Please select your correct option )

C

returmn Correct Answer Solved By Hadi
usmanraj20@email.com

@ @ [ﬂ?@ @ﬁ 03128043306

break

contiue

goto

Yhede By: Wager Siddha




Question Mo : 12 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Tdentify the correct option which 15 used for calling the function float area (int). =

Answer | Please select your correct option )

C

areal&num) ;

arealtim) ;

arcalint mn)
¢ ) Correct Answer Solved By Hadi

usmanrajll@gmail.com

COTTFEG premboniing

areal™num) ;

Yhede By: Wager Siddha




Question Mo : 13 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

&

The staternent allows us to zelect from multiple choices hased on a set of fixed values for a given expression,

Answer | Please select your correct option )

switch Correct Answer Solved By Hadi

el usmanraj2@gmail.com
@@ @-[t 03228043306

break
g

continue
(o

zoto
i

Yhede By: Wager Siddha




Question Mo : 14 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

C 1z widely known as development language of

operating system.

&

Answer | Please select your correct option )

Windows
C

Uiz Correct Answer Solved By Hadi

usmanraj2l@gmail.com

= @@@E 03228043306

Iac OF
(o

Linuz
i

Yhede By: Wager Siddha




Question Mo : 15 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

To convert the value of one type into another type usmng buidt-m functions, we nclude header file. =

Answer | Please select your correct option )

comoh
C
- stdlib by Correct Answer Solved By Hadi

usmanrajlggmail.com
correct p

iostream b
C

string h
O

Yhede By: Wager Siddha




Question Mo : 16 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Syntax of a union 15 identical to

&

Answer | Please select your correct option )

C

structure
Correct Answer Solved By Hadi
COrrect N
class
fanctien
loop

Yhede By: Wager Siddha




Question Mo : 17 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

&

The function seekg) takes parameter(s).

Answer | Please select your correct option )

0
fa
1
2 Correct Answer Solved By Hadi
e @@@-[t us;;;;;ﬁi%gmmmm
3
Yhede By: Wager Siddha




Question Mo : 18 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The function wnte() takes as parameter(s),

&

Answer | Please select your correct option )

String of pointer type
C

String of variable lengths, no. of bytes to be read and flags
g

Pointer array of characters and a delimiter
(o

String and no. of bytes to be wntten :
~ {t Correct _-’msnger Solved By Hadi

A usmanrajl )@ gzmag -
wwan Yetde By: Nagar Siddhy




Question Mo : 19 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

When the logical operator AND (88 combines two expressions expl and exp? then the result will be true only

&

Answer | Please select your correct option )

C

When both expl and exp2 are true Correct Answer Solved By Hadi
usmanraj20@gmail.com

@@ @& 03228043306

When both expl and exp? are false

When expl iz true and exp? 15 false

When exp] is falze and exp?2 iz true

Yhede By: Wager Siddha




Question Mo : 20 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Mull character 1z used to mdicate the

of string.

&

Answer | Please select your correct option )

C

Start
End Correct Answer Solved By Hadi
usmanraj2l@gmail.com
correct s
Begin
Middle

Yhede By: Wager Siddha




Question No : 21 of 26

Marks: 2 (Budgeted Time 4 Min) (=]

A two-dimensional array has 3 rows and 4 columns, Write down the syntax to mitialize first element of all three rows of two-dimensional array with value 2

-

Answer | Please click here to Add Answer )

FEHal|sie|s &AL E
||| il B2 | T | E

1uu%v|
I BETE =

Yhade By: Pagear Siddhuy




Marks: 2 (Budgeted Time 4 Min) (=]

Question No : 22 of 26

Identify any logical or syntax error m the statement below and explain the reason of the error,

seekeg (-10L, ins heg,

Answer | Please click here to Add Answer )
FEanR | RS W& L G |1uu%v]|
||||rrr|c|| x| Al | =] s | E===|:

il
il
1}
||+|
1l

Yhade By: Pagar Siddhuy




Question Mo : 23 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

Using the given array declaration:

|»

ntat(]=141,2 34 567 8 9};
nt* arr ptt = arr;

Find out the walue of each of the expressions helow.

Answer | Please click here to Add Answer )

FEanR | RS W& L G 1uu%v|
|I|rrr.1| x| Al | =] s ||§§ :

. Yhade By: Pagar Siddhuy




Question No : 23 of 26

Marks: 3 (Budgeted Time 6 Min) (=]

ML |1 P — AT,

Find out the walue of each of the expressions helow.

1. *arr pir+4)
2. (Yarr_pto)++
3. *arr ptre+) e

-

Answer | Please click here to Add Answer )

FE&ER| Yo o5 e T |E||1uu%v]|

Illlrrnul [ E B

([l

il

Yhade By: Pagar Siddhuy




Marks: 3 (Budgeted Time 6 Min) (=]

-

Question No : 24 of 26

If you are provided two methods for accessimg a file; random and sequential Which method will you prefer and why?

Answer | Please click here to Add Answer )

FEHalE|r s = aE LR
|||nr.1| || il | FEE] . l]|::§§§

100% |

Yhade By: Pagar Siddhuy




Question No : 25 of 26

Marks: 5 (Budgeted Time 10 Min) (=]
Following are two programming staternents; you have to write down the functionality of each statement?

1yt *oonst mtPtr = &,
21 const it FntPtr = &

™

Answer | Please click here to Add Answer )

FEHal|sie|s &AL E
||| il B2 | T | E

1uu%v|
I BETE =

Yhade By: Pagar Siddhuy




Question Mo : 26 of 26 Marks: 5 (Budgeted Time 10 Min) (=]

Find out errors in the program if any and after correction, write the output. =

it main)

{

ofstream outfile;
long position;

Answer | Please click here to Add Answer )

FEanR | RS W& L G 1uu%v|
|I|rrr.1| x| Al | =] s ||§§

. Yhade By: Pagear Siddhuy




Marks: 5 (Budgeted Time 10 Min) (=]

-

Question No : 26 of 26

loflg pOSmoL,

char outfilename[] = “abc =7,
outfile. openfoutfilename);

1f{ | outfile)

{

cout=<” Error Occured while opentng a file”;

Answer | Please click here to Add Answer )

100% |

sEaR s T ME R
=] [ | FEE] . l]|::§::§

III il

Yhade By: Pagear Siddhuy




Marks: 5 (Budgeted Time 10 Min) (=]

Question No : 26 of 26

T, e e I L =
ext(1};

I

outfile write"This i a car", 12);

position = outfile tellp(); J
outfile. seelkp(postion-5);

outfile write("jar", 3); =

Answer | Please click here to Add Answer )
SEHaR| Vs o |G [E o]
Illrrrnl _||=||n| _”] _I B 7 U|::§EE§ T

Yhade By: Pagear Siddhuy




Question Mo : 26 of 26 Marks: 5 (Budgeted Time 10 Min) (=]

PUSMIUIL — ULLLLE, LELRIL ),
outfile. seekplposition-5);
outfile write("jar", 3,
outfile. close();

return 0

i

-

Answer | Please click here to Add Answer )

FEanR | RS W& L G |1uu%v]|
Illlrrnul _I|~—~Ilr-| _Il] _I B 7 U|——E:§

il
il
1}
||+|
1l

. Yhade By: Pagear Siddhuy




